ER-IRBAREE—FR SMTESR29AERE
___ ZETE YTHESRE
R T RIX TEE —
BET | RESEE LEE
FHEE LD 8| RB
- (2kE) |REmEBREREE [20
(tBRD) |LEmERsnEE 128
REmEEREE [T)E-82
#K e —
. f‘gﬁfgg”‘ﬁﬁ FIAR) | chn B (31481, 17 )| (7RSS - )
FE E 5 EE 20m/s
RERE TR 20m/s BEFES
x5 BEDES 2B RAE O S 10om
R BEES
=0 4 N
< EEMERBEE |8
TEMEEREE 103
REmEEREE [T)RE-65
— HaEE™ IF)IGRI=(5, 7.6), FIRJIIGRIE=(5, 82.2)
)11k TR N = -
A R PR (3 AE), TP )| [T - )
58 i, E 5 EE 13m/s
RS TR 3m/s EERES
*E BEDQRE 2B A E O bom
e R BEES
ARH =y i
= BB LURENTEENBE
WE
=T 1Riz [100m
BrI% R/INEEI0% T, EXNTEE60%
BER
&R 5% RIESR) HFHRARRECIOCUTOHAHALBG
m 2E (BESE) HFHATRAET-FCLT. FERBAEE REMFHT-5CLT
] BRFEHACRIESURACLLT
EKEE ELVEK(B) ATRINLBE

EEEREARER

TR [100mm

"NREREEY AEFEREY OMAShEICLIREBEERLTVET,



